
MATHS

BOOKS - SURA MATHS (TAMIL ENGLISH)

GEOMETRY

Exercise 4 1

1. Check whether the which triangles are similar and

find the value of x. 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3CDuvw40lRJJ


Watch Video Solution

2. A girl looks the reflection of the top of the lamp

post on the mirror which is 6.6 m away from the foot

of the lamppost. The girl whose height is 1.25 m is

standing 2.5 m away from the mirror. Assuming the

mirror is placed on the ground facing the sky and

the girl, mirror and the lamppost are in a same line,

find the height of the lamp post ?

Watch Video Solution

https://dl.doubtnut.com/l/_3CDuvw40lRJJ
https://dl.doubtnut.com/l/_HBs9iAY0EtHx


Watch Video Solution

3. A vertical stick of length 6 m casts a shadow 400

cm long on the ground and at the same time a

tower casts a shadow 28 m long. Using similarity,

find the height of the tower.

Watch Video Solution

4. Two triangles QPR and QSR, right angled at P and

S respectively are drawn on the same base QR and

on the same side of QR. If PR and SQ intersect at T,

prove that .

W t h Vid S l ti

PT × T R = ST × T Q

https://dl.doubtnut.com/l/_HBs9iAY0EtHx
https://dl.doubtnut.com/l/_FDHdI58RMb3h
https://dl.doubtnut.com/l/_mTWej25PHpnE


Watch Video Solution

5. In the adjacent figure,  is right angled at C

and . Prove that  and

hence find the lengths of AE and DE ? 

Watch Video Solution

ΔABC

DE ⊥ AB ΔABC~ΔADE

https://dl.doubtnut.com/l/_mTWej25PHpnE
https://dl.doubtnut.com/l/_hT0NSM9PuCqk


6. In the adjacent figure, . If BC=8 cm

, PQ=4 cm, BA=6.5 cm and AP=2.8 cm, find CA and AQ. 

Watch Video Solution

ΔACB~ΔAPQ

7. In figure OPRQ is a square and .

Prove that 

∠MLN = 90∘

https://dl.doubtnut.com/l/_l1E3JKw87Dkv
https://dl.doubtnut.com/l/_G6WIz2mWux0p


 


. 


Watch Video Solution

(i)ΔLOP~ΔQMO(ii)ΔLOP~ΔRPN

(iii)ΔQMO~ΔRPN(iv)QR2 = MQ × RN

8. If  such that area of 

 and the area of 

 and BC=2.1 cm. Find the length of

EF.

ΔABC~ΔDEF

ΔABC  is 9cm2

ΔDEF  is 16cm2

https://dl.doubtnut.com/l/_G6WIz2mWux0p
https://dl.doubtnut.com/l/_N7xf8OOC6rm9


Watch Video Solution

9. Two vertical poles of heights 6 m and 3 m are

erected above a horizontal ground AC. Find the

value of y. 

Watch Video Solution

https://dl.doubtnut.com/l/_N7xf8OOC6rm9
https://dl.doubtnut.com/l/_8fMVAQEfwc4v
https://dl.doubtnut.com/l/_tWkkF3QNkTEU


10. Construct a triangle similar to a given triangle

PQR with its sides equal to  of the corresponding

sides of the triangle PQR (scale factor .

Watch Video Solution

2

3

)
2

3

11. Construct a triangle similar to a given triangle

LMN with its sides equal to  of the corresponding

sides of the triangle LMN (scale factor ).

Watch Video Solution

4
5

4
5

https://dl.doubtnut.com/l/_tWkkF3QNkTEU
https://dl.doubtnut.com/l/_NjVtCGFMKIHW


Exercise 4 2

12. Construct a triangle similasr to a given triangle

ABC with its sides equal to  of the corresponding

sides of the triangle ABC (scale factor ).

Watch Video Solution

6

5
6

4

13. Construct a triangle similasr to a given triangle

PQR with its sides equal to  of the corresponding

sides of the triangle PQR (scale factor )).

Watch Video Solution

7
3

7

3

https://dl.doubtnut.com/l/_QkDyKqUcjpIu
https://dl.doubtnut.com/l/_qUM5Dr5hQP68


1. In , D and E are points on the sides AB and

AC respectively such that  


(i) If  and AC=15 cm find AE. 


(ii) If AD=8x-7, DB=5x-3, AE= 4x-3 and EC=3x - 1, find the

value of x.

Watch Video Solution

ΔABC

DE ∣ ∣ BC

=
AD

DB

3

4

2. ABCD is a trapezium in which  and P,Q

are points on AD and BC respectively, such that

 if PD=18 cm , BQ= 35 cm and QC= 15 cm,

find AD.

Watch Video Solution

AB ∣ ∣ DC

PQ ∣ ∣ DC

https://dl.doubtnut.com/l/_Xfu5QJ8fR3RD
https://dl.doubtnut.com/l/_nfVx8FncoJCx


3. In , D and E are points on the sides AB and

AC respectively. For each of the following cases show

that DE||BC 

(i) AB=12 cm , AD=8 cm, AE=12 cm and AC=18 cm. 

(ii) AB=5.6 cm, AD=1.4 cm, AC=7.2 cm and AE=1.8 cm.

Watch Video Solution

ΔABC

4. In fig. if PQ||BC and PR||CD prove that 

. (i) = (ii) =
AR

AD

AQ

AB

QB

AQ

DR

AR

https://dl.doubtnut.com/l/_nfVx8FncoJCx
https://dl.doubtnut.com/l/_0twCaI9AWLVK
https://dl.doubtnut.com/l/_a8BpPv2wOe0i


Watch Video Solution

5. Rhombus PQRS is inseribed in  such that 

 is one of its angle. P, Q and R lie on AB, AC and

BC respectively. If AB=12 cm and BC=6 cm, find the

sides PQ, RB of the rhombus.

Watch Video Solution

ΔABC

∠B

https://dl.doubtnut.com/l/_a8BpPv2wOe0i
https://dl.doubtnut.com/l/_FWFpYckWbiGo


6. In trapezlum ABCD, AB || DC, E and F are points on

non-parallel sides AD and BC respectively, such that

EF || AB. Show that .

Watch Video Solution

=
AE

ED

BF

FC

7. In figure DE|| BC and CD||EF. Prove that

. 
AD2 = AB × AF

https://dl.doubtnut.com/l/_ekZrxns4cHYh
https://dl.doubtnut.com/l/_YBLn7Khd71v8


Watch Video Solution

8. In a  , AD is the bisector of  meeting

side BC at D, if AB=10 cm, AC =14 cm and BC=6 cm,

find BD and DC.

Watch Video Solution

ΔABC ∠A

https://dl.doubtnut.com/l/_YBLn7Khd71v8
https://dl.doubtnut.com/l/_ZA8St1hZ45EE


9. Check whether AD is bisector of 

in each of the following 

(i) AB=5 cm, AC=10 cm, BD=1.5 cm and CD=3.5 cm. 

(ii) AB=4 cm, AC=6 cm, BD=1.6 cm and CD=2.4 cm.

Watch Video Solution

∠A  of ΔABC

10. In figure , PS is its bisector. If 

, prove that 

∠QPC = 90∘

ST ⊥ PR

https://dl.doubtnut.com/l/_ZA8St1hZ45EE
https://dl.doubtnut.com/l/_CroxtyKAYKOF
https://dl.doubtnut.com/l/_hqVuRpSaOVbH


. 


Watch Video Solution

ST × (PQ + PR) = PQ × PR

11. ABCD is a quadrilateral in which AB= AD, the

bisector of  intersect the sides∠BAC and ∠CAD

https://dl.doubtnut.com/l/_hqVuRpSaOVbH
https://dl.doubtnut.com/l/_fFdjFRIKgSfe


BC and CD at the points E and F respectively. Prove

that EF || BD.

Watch Video Solution

12. Construct a  which the base 

 and the median from R to

RG is 6 cm.

Watch Video Solution

ΔPQR

PQ = 4.5cm, ∠R = 35∘

13. Construct a  in which QR= 5 cm, 

and the median PG from P to QR is 4.4 cm. Find the

ΔPQR P = 40∘

https://dl.doubtnut.com/l/_fFdjFRIKgSfe
https://dl.doubtnut.com/l/_hvb82JTg8K4R
https://dl.doubtnut.com/l/_0nRsXdD4fiZW


length of the altitude from P to QR.

Watch Video Solution

14. Construct a  such that QR=6.5 cm, 

 and the altitude from P to QR is of

length 4.5 cm.

Watch Video Solution

ΔPQR

∠P = 60∘

15. Construct a  such that 

 and the altitude from C to

AB is 4 cm.

ΔABC

AB = 5.5cm, ∠C = 25∘

https://dl.doubtnut.com/l/_0nRsXdD4fiZW
https://dl.doubtnut.com/l/_HZy3catBskrM
https://dl.doubtnut.com/l/_pQmIvrJX6S87


Watch Video Solution

16. Draw a triangle ABC of base BC=5.6 cm,

 and the bisector of  meets BC at D

such that CD=4 cm.

Watch Video Solution

∠A = 40∘ ∠A

17. Draw  such that PQ=6.8 cm, vertical angle

is  and the bisector of the vertical angle meets

the base at D where PD=5.2 cm.

Watch Video Solution

ΔPQR

50∘

https://dl.doubtnut.com/l/_pQmIvrJX6S87
https://dl.doubtnut.com/l/_rLOI5R4Adl9A
https://dl.doubtnut.com/l/_o3WWPo7cddze


Exercise 4 3

1. A man goes 18 m due east and then 24 m due

north. Find the distance of his current position from

the starting point ?

Watch Video Solution

2. There are two paths that one can choose to go

from Sarah's house to James house. One way is to

take C street, and the other way requires to take A

street and then B street. How much shorter is the

https://dl.doubtnut.com/l/_p6jB2dvhR4kn
https://dl.doubtnut.com/l/_wHEo6WpqewfD


direct path along C street ? (Using figure). 

Watch Video Solution

3. To get from point A to point B you must avoid

walking through a pond. You must walk 34 m south

and 41 m east. To the nearrest meter, how many

https://dl.doubtnut.com/l/_wHEo6WpqewfD
https://dl.doubtnut.com/l/_MlOCh8vogAIJ


meters would be saved if it were possible to make a

way through the pond ?

Watch Video Solution

4. In the rectangle WXYZ, XY+YZ=17 cm and

XZ+YW=26 cm. Calculate the length and breadth of

the rectangle ? 

Watch Video Solution

https://dl.doubtnut.com/l/_MlOCh8vogAIJ
https://dl.doubtnut.com/l/_wayPPU1Kww1C


5. The hypotenuse of a right triangle is 6 m more

than twice of the shortest side. If the third side is 2

m less than the hypotenuse, find the sides of the

triangle ?

Watch Video Solution

6. 5 m long ladder is placed leaning towards a

vertical wall such that it reaches the wall at a point 4

m high. If the foot of the ladder is moved 1.6 m

towards the wall, then find the distance by which the

top of the ladder would slide upwards on the wall.

https://dl.doubtnut.com/l/_wayPPU1Kww1C
https://dl.doubtnut.com/l/_cb891lxy9y7Y
https://dl.doubtnut.com/l/_ZMsV8IOc3KjV


Watch Video Solution

7. The perpendicular PS on the base QR of 

intersects QR at S, such that QS=3 SR. Prove that

.

Watch Video Solution

ΔPQR

2PQ2 = 2PR2 + QR2

8. In the adjacent figure, ABC is a right angled

triangle with right angle at B and points D, E trisect

https://dl.doubtnut.com/l/_ZMsV8IOc3KjV
https://dl.doubtnut.com/l/_egzmoVlXUh87
https://dl.doubtnut.com/l/_SmK7hXG4IhSS


Exercise 4 4

BC. Prove that  


Watch Video Solution

8AE2 = 3AC 2 + 5AD2.

https://dl.doubtnut.com/l/_SmK7hXG4IhSS


1. The length of the tangent to a circle from a point

P, which is 25 cm away from the centre is 24 cm.

What is the radius of the circle ?

Watch Video Solution

2.  is a right angled triangle with .

A circle is inscribed in it. The lengths of the sides

containing the right angle are 6 cm and 8 cm. Find

the radius of the circle.

Watch Video Solution

ΔLMN ∠L = 90∘

https://dl.doubtnut.com/l/_UsBxnBSdzZJv
https://dl.doubtnut.com/l/_gUN3lLbpyGgZ


3. A circle is inscribed in  having sides 8 cm,

10 cm and 12 cm as shown in figure, Find AD, BE and

CF. 

Watch Video Solution

ΔABC

4. PQ is a tangent drawn from a point P to a circle

with centre O and QOR is a diameter of the circle

https://dl.doubtnut.com/l/_YfGNf7yafELe
https://dl.doubtnut.com/l/_XQkXqimYnQce


such that . Find .

Watch Video Solution

∠POR = 120∘ ∠OPQ

5. A tangent ST to a circle touches it at B. AB is a

chord such that , Find , where

O is the centre of the circle.

Watch Video Solution

∠ABT = 65∘ ∠AOB

6. In figure, O is the centre of the circle with radius 5

cm. T is a point such that OT=13 cm and OT intersects

the circle E, if AB is the tangent ot the circle at E, find

https://dl.doubtnut.com/l/_XQkXqimYnQce
https://dl.doubtnut.com/l/_bfhNismVqfZ9
https://dl.doubtnut.com/l/_T8T4smFwQgcK


the length of AB. 

Watch Video Solution

7. In two concentric circles, a chord of length 16 cm

of larger circle becomes a tangent to the smaller

circle whose radius is 6 cm. Find the radius of the

larger circle.

W h Vid S l i

https://dl.doubtnut.com/l/_T8T4smFwQgcK
https://dl.doubtnut.com/l/_lj9xmsImTulV


Watch Video Solution

8. Two circles with centres O and O' of radii 3cm and

4 cm, respectively intersect at two points P and Q,

such that OP and O' P are tangents to the two

circles. Find the length of the common chord PQ.

Watch Video Solution

9. Show that the angle bisectors of a triangle are

concurrent.

Watch Video Solution

https://dl.doubtnut.com/l/_lj9xmsImTulV
https://dl.doubtnut.com/l/_JI3IpIis1Kim
https://dl.doubtnut.com/l/_o0O5iKGELA7N
https://dl.doubtnut.com/l/_ntBF72SISJvL


10. In , with , BC=6 cm and AB=8

cm, D is a point on AC such that AD=2 cm and E is

the midpoint of AB. Join D to E and extend it to meet

at F. Find BF.

Watch Video Solution

ΔABC ∠B = 90∘

11. An artist has created a triangular stained glass

window and has one strip of small length left before

completing the window. She needs to figure out the

length of left out portion based on the lengths of

https://dl.doubtnut.com/l/_ntBF72SISJvL
https://dl.doubtnut.com/l/_KyW9hknI12wH


the other sides as shown in the figure . 

https://dl.doubtnut.com/l/_KyW9hknI12wH


Watch Video Solution

12. Draw a tangent at any point R on the circle of

radius 3.4 cm and centre at P ?

Watch Video Solution

13. Draw a circle of radius 4.5 cm. Take a point on the

circle. Draw the tangent at that point using the

alternate segment theorem.

Watch Video Solution

https://dl.doubtnut.com/l/_KyW9hknI12wH
https://dl.doubtnut.com/l/_KPWB4MzLQZPV
https://dl.doubtnut.com/l/_uJ5SGA8wtk01


14. Draw the two tangents from a point which is 10

cm away from the centre of a circle of radius 5 cm.

Also, measure the lengths of the tangents.

Watch Video Solution

15. Take a point which is 11 cm away from the centre

of a circle of radius 4 cm and draw the two tangents

to the circle from that point.

Watch Video Solution

https://dl.doubtnut.com/l/_QNNaxV6lqQzr
https://dl.doubtnut.com/l/_xVuPjQSfDvBH


Exercise 4 5

16. Draw the two tangents from a point which is 5

cm away from the centre of a circle of diameter 6 cm.

Also, measure the lengths of the tangents.

Watch Video Solution

17. Draw a tangent to the circle from the point P

having radius 3.6 cm, and centre at O. Point P is at a

distance 7.2 cm from the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_L1PmO2gaXt0z
https://dl.doubtnut.com/l/_cFzsxwaqXDt5


1. If in triangles ABC and EDF,  then

they will be similar, when

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

=
AB

DE

BC

FD

∠B = ∠E

∠A = ∠D

∠B = ∠D

∠A = ∠F

https://dl.doubtnut.com/l/_ivp7CH4Gor0c


2. In

then the value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔLMN, ∠L = 60∘ , ∠M = 50∘ ,  If ΔLMN~ΔPQR

∠R

40∘

70∘

30∘

110∘

https://dl.doubtnut.com/l/_TatPOqOjUPmi


3. If  is an isosceles triangle with 

and AC=5 cm, then AB is

A. 2.5 cm

B. 5 cm

C. 10 cm

D. 

Answer:

Watch Video Solution

ΔABC ∠C = 90∘

5√2cm

https://dl.doubtnut.com/l/_J3TwXF1UfniV


4. In a given figure, ST||QR, PS=2 cm and QS=3 cm.

Then the ratio of the area of  to the area of

 is ___. 

A. 

B. 

C. 

△ PQR

△ PST

25: 4

25: 7

25: 11

https://dl.doubtnut.com/l/_0eS0JJrf8qKk


D. 

Answer:

Watch Video Solution

25: 13

5. The perimeters of two similar triangles

 are 36 cm and 24 cm

respectively. IF PQ=10 cm, then the length of AB is

A. 

B. 

C. 

ΔABC and ΔPQR

6 cm
2

3

cm
10√6

3

66 cm
2

3

https://dl.doubtnut.com/l/_0eS0JJrf8qKk
https://dl.doubtnut.com/l/_SN4KyNAePBf2


D. 

Answer:

Watch Video Solution

15cm

6. If in , DE|| BC . AB=3.6 cm, AC=2.4 cm and

AD=2.1 cm then the length of AE is

A. 1.4 cm

B. 1.8 cm

C. 1.2 cm

D. 1.05 cm

ΔABC

https://dl.doubtnut.com/l/_SN4KyNAePBf2
https://dl.doubtnut.com/l/_ATh8a5OShFt8


Answer:

Watch Video Solution

7. In a , Adis the bisector of . If AB=8

cm, BD=6 cm and DC=3 cm. The length of the side AC

is

A. 6 cm

B. 4 cm

C. 3 cm

D. 8 cm

ΔABC ∠BAC

https://dl.doubtnut.com/l/_ATh8a5OShFt8
https://dl.doubtnut.com/l/_AcCwKEoHpcwl


Answer:

Watch Video Solution

8. In the adjacent figure

 then 


A. 

B. 

∠BAC = 90∘ and AD ⊥ BC

BD. CD = BC 2

AB. AC = BC 2

https://dl.doubtnut.com/l/_AcCwKEoHpcwl
https://dl.doubtnut.com/l/_ZEbiNEcrDXxa


C. 

D. 

Answer:

Watch Video Solution

BD. CD = AD2

AB. AC = AD2

9. Two poles of heights 6 m and 11 stand vertically on

a plane ground. If the distance between their feet is

12 m, what is the distance between their tops ?

A. 13 cm

B. 14 m

https://dl.doubtnut.com/l/_ZEbiNEcrDXxa
https://dl.doubtnut.com/l/_Vyrit5tyYvyA


C. 15 m

D. 12.8 m

Answer:

Watch Video Solution

10. In the given figure, PR= 26 cm, QR=24 cm,

 and QA=8 cm. Find PAQ = 90∘ , PA = 6cm ∠PQR

https://dl.doubtnut.com/l/_Vyrit5tyYvyA
https://dl.doubtnut.com/l/_FtOEqUEwH0gD


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

80∘

85∘

75∘

90∘

11. A tangent is perpendicular to the radius at the

A. centre

B. point of contact

https://dl.doubtnut.com/l/_FtOEqUEwH0gD
https://dl.doubtnut.com/l/_mcgBaY3q3suI


C. infinity

D. chord

Answer:

Watch Video Solution

12. How many tangents can be drawn to the circle

from an exterior point ?

A. one

B. two

C. infinite

https://dl.doubtnut.com/l/_mcgBaY3q3suI
https://dl.doubtnut.com/l/_ToZI9SStvgQy


D. zero

Answer:

Watch Video Solution

13. The two tangents from an external points P to a

circle with centre at O are PA and PB. If

 then the value of  is

A. 

B. 

C. 

∠APB = 70∘ ∠AOB

100∘

110∘

120∘

https://dl.doubtnut.com/l/_ToZI9SStvgQy
https://dl.doubtnut.com/l/_6lTSN6tLjvEd


D. 

Answer:

Watch Video Solution

130∘

14. In figure CP and CQ are tangents to a circle with

centre at 0. ARB is another tangent touching the

circle at R. If , then theCP = 11cm and BC = 7cm

https://dl.doubtnut.com/l/_6lTSN6tLjvEd
https://dl.doubtnut.com/l/_MFMARCIZDAh2


length of BR is ___. 

A. 6 cm

B. 5 cm

C. 8 cm

D. 4 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MFMARCIZDAh2


15. In figure if PR is tangent to the circle at P and O is

the centre of the circle then  is 


A. 

B. 

C. 

∠POQ

120∘

100∘

110∘

https://dl.doubtnut.com/l/_MFMARCIZDAh2
https://dl.doubtnut.com/l/_aIFUgji4oSUa


Unit Exercise 4

D. 

Answer:

Watch Video Solution

90∘

1. In the figure, if  , prove

that 

BD ⊥ AC and CE ⊥ AB

https://dl.doubtnut.com/l/_aIFUgji4oSUa
https://dl.doubtnut.com/l/_MfTiH1bYVvKZ


 

Watch Video Solution

(i)ΔAEC~ΔADB       (ii) =
CA

AB

CE

DB

2. In the given figure, AB||CD ||EF. If AB=6 cm, CD= x

cm, EF=4 cm, BD=5 cm and DE=y cm. Find x and y . 

https://dl.doubtnut.com/l/_MfTiH1bYVvKZ
https://dl.doubtnut.com/l/_k9O9uJ4WhEEx


Watch Video Solution

3. O is any point inside a triangle ABC. The bisector

of  meet the sides AB,

BC and CA in point D, E and F respectively. 

Show that 

∠AOB, ∠BOC and ∠COA

AD × BE × CF = DB × EC × FA

https://dl.doubtnut.com/l/_k9O9uJ4WhEEx
https://dl.doubtnut.com/l/_3E1Te3uVYXoB


Watch Video Solution

4. In the figure, ABC is a triangle in which AB= AC.

Points D and E are points on the side AB and AC

respectively such that AD=AE. Show that points B, C,

E and D lie on a same circle. 

Watch Video Solution

https://dl.doubtnut.com/l/_3E1Te3uVYXoB
https://dl.doubtnut.com/l/_JWoh6kCvdOGz


5. Two trains leave a railway station at the same

time. The first train travels due west and the second

train due north . The first train travels at a speed of

20 km/ hr and the second train travels at 30 km/ hr.

After 2 hours, what is the distance between them ?

Watch Video Solution

6. D is the mid point of side BC and . If

BC=a, AC= b, AB=c, ED=x, AD=p and AE=h, prove that 

 


(ii)  


AE ⊥ BC

(i)b2 = p2 + ax +
a2

4

c2 = p2 − ax +
a2

4

(iii)b2 + c2 = 2p2 +
a2

2

https://dl.doubtnut.com/l/_Tdk0sb3Q3fKV
https://dl.doubtnut.com/l/_cLXnydK02zqG


Watch Video Solution

7. A man whose eye-level is 2 m above the ground

wishes to find the height of a tree. He places a

mirror horizontally on the ground 20 m from the

tree and finds that if he stands at a point C which is

4m from the mirror B, he can see the reflection of

the top of the tree. How height is the tree ?

Watch Video Solution

8. An emu which is 8 ft tall standing at the foot of a

pillar which is 30 ft height. It walks away from the

https://dl.doubtnut.com/l/_cLXnydK02zqG
https://dl.doubtnut.com/l/_XjJL4xpE0zXR
https://dl.doubtnut.com/l/_deHzwf8skFZ2


pillar. The shadow of the emu falls beyond emu.

What is the relation between the length of the

shadow and the distance from the emu to the pillar

?

Watch Video Solution

9. Two circles intersect at A and B. From a point P on

one of the circles lines PAC and PBD are drawn

intersecting the second circle at C and D. Prove that

CD is parallel to the tangent at P.

Watch Video Solution

https://dl.doubtnut.com/l/_deHzwf8skFZ2
https://dl.doubtnut.com/l/_Dm2zI7pOkLGn
https://dl.doubtnut.com/l/_oI5O1kKG4dZh


Government Exam Questions

10. Let ABC be a triangle and D,E,F are points on the

respective sides AB, BC, AC (or their extensions). Let

AD : DB=5 : 3, BE : EC= 3 : 2 and AC=21. Find the length

of the line segment CF.

Watch Video Solution

https://dl.doubtnut.com/l/_oI5O1kKG4dZh


1. In the given figure, the value of x is 

A. 2

B. 8

C. 4

D. 12

https://dl.doubtnut.com/l/_tkqEq2KQh66x


Answer:

Watch Video Solution

2. What length of ladder is needed to reach a height

of 7 ft along the wall when the base of the ladder is

4 ft from the wall ?

Watch Video Solution

3. If  is similar to  such that BC=3 cm,

EF=4 cm and area of . Find the area

of .

ΔABC ΔDEF

ΔABC = 54cm2

ΔDEF

https://dl.doubtnut.com/l/_tkqEq2KQh66x
https://dl.doubtnut.com/l/_eTob2TcleIWu
https://dl.doubtnut.com/l/_rToAqDkNrSoI


Watch Video Solution

4. P and Q are the mid-points of the sides CA and CB

respectively of a , right angled at C. Prove

that .

Watch Video Solution

ΔABC

4(AQ2 + BP 2) = 5AB2

5. State and prove Pythagoras theorem.

Watch Video Solution

https://dl.doubtnut.com/l/_rToAqDkNrSoI
https://dl.doubtnut.com/l/_J6RiYRPnsprK
https://dl.doubtnut.com/l/_lUtMgeRjtzbB


6. PQ is a chord of length 8 cm to a circle of radius 5

cm. The tangents at P and Q intersect at a point T.

Find the length of the tangent TP.

Watch Video Solution

7. Draw a triangle ABC of base BC=8 cm, 

and the bisector of  meets BC at D such that

BD=6 cm.

Watch Video Solution

∠A = 60∘

∠A

https://dl.doubtnut.com/l/_u3AJg6j9TZ7n
https://dl.doubtnut.com/l/_Rv4Y82Oo1xff


Additional Question Answers

8. In , if DE|| BC, AD=x DB=x-2, AE= x+2 and

EC=x-1 then find the length of the sides AB and AC.

Watch Video Solution

ΔABC

9. Construct a triangle similar to a given triangle

PQR with its sides equal to  of the corresponding

sides of the triangle PQR. (Scaler factor .

Watch Video Solution

3

5

< 1)
3

5

https://dl.doubtnut.com/l/_9pH0x9124ajH
https://dl.doubtnut.com/l/_Dy3arRTHhmIf
https://dl.doubtnut.com/l/_zG7HkrLbWGBO


1. In figure if PQ ||RS, Prove that .

Watch Video Solution

ΔPOQ~ΔSOR

2. In , prove that 

Watch Video Solution

AD ⊥ BC

AB2 + CD2 = BD2 + AC 2

3. A ladder is placed against a wall such that its foot

is at a distance of 2.5 m from the wall and its top

reaches a window 6 m above the ground. Find the

length of the ladder.

https://dl.doubtnut.com/l/_zG7HkrLbWGBO
https://dl.doubtnut.com/l/_COVQghJjbwwM
https://dl.doubtnut.com/l/_YiXvf22LrB5L


Watch Video Solution

4. In figure OA. OB= OC. OD 

Show that 

Watch Video Solution

∠A = ∠C and ∠B = ∠D

5. In figure O is any point inside a rectangle ABCD.

Prove that .

Watch Video Solution

OB2 + OD2 = OA2 + OC 2

https://dl.doubtnut.com/l/_YiXvf22LrB5L
https://dl.doubtnut.com/l/_4Zi3t9cXceIb
https://dl.doubtnut.com/l/_siMtkP1NwEZ5


6. In . Prove that 

Watch Video Solution

∠ACD = 90∘ and CD ⊥ AB

=
BC 2

AC 2

BD

AD

7. In figure the line segment xy is parallel to side AC

of  and it divides the triangle into two parts

of equal areas. Find the ratio 

Watch Video Solution

ΔABC

AX

AB

https://dl.doubtnut.com/l/_Zori24Sil8JT
https://dl.doubtnut.com/l/_1W5YiISwbAZF


8. BL and CM are medians of a triangle ABC right

angled at A. 

Prove that 

Watch Video Solution

4(BL2 + CM 2) = 5BC 2

9. Prove that in a right triangle, the square of the

hypotenure is equal to the sum of the squares of

the others two sides.

Watch Video Solution

https://dl.doubtnut.com/l/_gumLrEqBhBjf
https://dl.doubtnut.com/l/_MPF74PVW2dtx


Unit Test Section A

10. The perpendicular from A on side BC at a 

intersects BC at D such that DB=3 CD. Prove that

Watch Video Solution

ΔABC

2AB2 = 2AC 2 + BC 2

11. In , if DE|| BC, AD=x DB=x-2, AE= x+2 and

EC=x-1 then find the length of the sides AB and AC.

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_s3n2nF9xAtMZ
https://dl.doubtnut.com/l/_4YBaNapMAOhn
https://dl.doubtnut.com/l/_ZXa8wZapNOR8


1. In

then the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔLMN, ∠L = 60∘ , ∠M = 50∘ ,  If ΔLMN~ΔPQR

∠R

40∘

70∘

30∘

110∘

https://dl.doubtnut.com/l/_ZXa8wZapNOR8


2. The perimeters of two similar triangles

 are 36 cm and 24 cm

respectively. IF PQ=10 cm, then the length of AB is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC and ΔPQR

6 cm
2

3

cm
10√6

3

66 cm
2

3

15cm

https://dl.doubtnut.com/l/_weu0hrFOk6eo


3. In the given figure, PR= 26 cm, QR=24 cm,

 and QA=8 cm. Find 

A. 

B. 

C. 

D. 

Answer: D

PAQ = 90∘ , PA = 6cm ∠PQR

80∘

85∘

75∘

90∘

https://dl.doubtnut.com/l/_7NmWVYwVEL3Z


Watch Video Solution

4. In the adjacent figure

 then 


A. 

B. 

C. 

∠BAC = 90∘ and AD ⊥ BC

BD. CD = BC 2

AB. AC = BC 2

BD. CD = AD2

https://dl.doubtnut.com/l/_7NmWVYwVEL3Z
https://dl.doubtnut.com/l/_FD50nlsZTGVX


D. 

Answer: C

Watch Video Solution

AB. AC = AD2

5. The two tangents from an external points P to a

circle with centre at O are PA and PB. If

 then the value of  is

A. 

B. 

C. 

∠APB = 70∘ ∠AOB

100∘

110∘

120∘

https://dl.doubtnut.com/l/_FD50nlsZTGVX
https://dl.doubtnut.com/l/_4ir4VYlszhl3


Unit Test Section B

D. 

Answer: B

Watch Video Solution

130∘

1. In the adjacent figure,  is right angled at C

and . Prove that  and

ΔABC

DE ⊥ AB ΔABC~ΔADE

https://dl.doubtnut.com/l/_4ir4VYlszhl3
https://dl.doubtnut.com/l/_j36PhjDVp8Ny


hence find the lengths of AE and DE ? 

Watch Video Solution

2. In figure DE|| BC and CD||EF. Prove that

. 
AD2 = AB × AF

https://dl.doubtnut.com/l/_j36PhjDVp8Ny
https://dl.doubtnut.com/l/_ytePYQN8Rj7v


Watch Video Solution

3. A man goes 18 m due east and then 24 m due

north. Find the distance of his current position from

the starting point ?

Watch Video Solution

https://dl.doubtnut.com/l/_ytePYQN8Rj7v
https://dl.doubtnut.com/l/_UfxTYwOOFJZ9


4. Draw a tangent at any point R on the circle of

radius 3.4 cm and centre at P ?

Watch Video Solution

5. In two concentric circles, a chord of length 16 cm

of larger circle becomes a tangent to the smaller

circle whose radius is 6 cm. Find the radius of the

larger circle.

Watch Video Solution

https://dl.doubtnut.com/l/_UfxTYwOOFJZ9
https://dl.doubtnut.com/l/_9EqWVa81sKCw
https://dl.doubtnut.com/l/_x2Z1An2puVld


6. The length of the tangent to a circle from a point

P, which is 25 cm away from the centre is 24 cm.

What is the radius of the circle ?

Watch Video Solution

7. To get from point A to point B you must avoid

walking through a pond. You must walk 34 m south

and 41 m east. To the nearrest meter, how many

meters would be saved if it were possible to make a

way through the pond ?

Watch Video Solution

https://dl.doubtnut.com/l/_xKVPMrWj0Ofh
https://dl.doubtnut.com/l/_XRZOFwKIfslY


Unit Test Section C

1. A man whose eye-level is 2 m above the ground

wishes to find the height of a tree. He places a

mirror horizontally on the ground 20 m from the

tree and finds that if he stands at a point C which is

4m from the mirror B, he can see the reflection of

the top of the tree. How height is the tree ?

Watch Video Solution

2. A circle is inscribed in  having sides 8 cm,

10 cm and 12 cm as shown in figure, Find AD, BE and

ΔABC

https://dl.doubtnut.com/l/_1AmQ6Mvd40Y1
https://dl.doubtnut.com/l/_uazDgW5AuIkq


Unit Test Section D

CF. 

Watch Video Solution

1. Construct a triangle similar to a given triangle ABC

with its sides equal to  of the corresponding sides
6

5

https://dl.doubtnut.com/l/_uazDgW5AuIkq
https://dl.doubtnut.com/l/_cNv66jJPO3NI


of the triangle ABC (scale factor .

Watch Video Solution

)
6

4

2. Construct a  such that QR= 6.5 cm, 

 and the altitude from P to QR is of

length 4.5 cm.

Watch Video Solution

ΔPQR

∠P = 60∘

https://dl.doubtnut.com/l/_cNv66jJPO3NI
https://dl.doubtnut.com/l/_DkL2d0dcRWuK

